
Questions
and answers

"PUZZLED," Auckland, asks the fol-
| lowing questions concerning the
band-pass four :- .

* 1. What is the size of the panel-24x 7.
2. Concerning the coil formers. The
hist says ift. of same. Are the formersfor edch coil 4 inches long?
A.: The usual method in winding in-
ductances is to wind on the number of
turns for the smallest coil on to the
total length of tubing, leaving. about
half-inch at one end. When this is
wound, cut the former, leaving about
half-inch clear from the end. Then
wind: the next sized coil, and finally
the two coils for tickler and secondary.
-You will find by doing this that you
have a little to spare. .

| 3.-Coneerning the by-pass condens-
ers. What is the value of the one:on
the left of the detector socket ?-1
mfd.
4, The list of components prescribe
two 2 mfd. and one 1 mfd., whereas the
wiring diagram shows six, and the
thedyetical diagram five. How do you
accouut for this?
‘ A.: The total of by-pass condensers
ds five, but the grid condénser shown
‘in the layout, slightly smaller than the
‘by-pass condensers, give the appearance
‘of six bypass. There should be two 2
mfd. and three 1 mfd.
» 4, Regarding the coils. The diagram
Shows the coils marked ©, D, B. F.
‘Which are the ends of the secondary
and tickler?
A.: The lower sketch shows this,
though the lettering has been slightly
obliterated. It should read: Top re-
action, C; bottom reaction, D; top sec-
ondary, C; bottom secondary, F.
: 5. It was stated that all condensers
might be ganged with a balancing con-
denser as shown., Where is it shown?
A.: In the theoretical diagram,§. There are four condensers illus-trated. Can they all be ganged, mak-
ing single dial control? |

__A.: The three tuning condensers can
be ganged, that is, the one in the screen
and the two tandem, but the reaction
must be separate. To gang the three
condensers the layout must be separ-ate, and will have to be altered slight-
ly. The condensers in the shield must
pe turned round so that the shaft
asses through the shield, to connect

pe the other two condensers, whichre interchanged with the reaction con-
Nenser.
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7. Re the fuse in screen-grid lead.
Whereis it placed?A.: It is shown in the layout dia-
gram in. series with B+ "screening
grid." Note the difference between the
shaded lines as shown on the shield and
the solid ones. The shaded portions re-
present large holes in the shield, cover-
ed. with insulation, so that the wire
passing through may not touch. Thesolid patches show connections.
8. I presume’ the rheostat controlsthe detector and screen grid valves?A.:'As shown, yes. However, theother three valves are shown without
any control. A- must be brought to
one side of the switch and the other
side of the switch taken to the rheostat.To the other side of the rheostat must
be connected all the leads to be‘con-trolledby it, presumably the screen gridvalve and the detector. The audio
valves should be connected to the sideof the rheostat nearest the switch.

"SUPREME" (Waikato) has replaceda transformer and finds that thereis a continual squeal which cannot be
controlled.
A. Reverse the connections to the pri-mary of the replaced transformer.
Everything appears to be correct from
your description except this.

‘C W.D." (Wellington) states that* some time ago he asked if it
were possible to construct. a erystalset for receiving short-wave broad-
casts. Our answer was in the nega-tive. The correspondent has recentlyreceived a short-wave station on hisset.
A.: This sometimes happens whenthe set is close to the transmitting sta-tion. It is very difficult to explain.
"A B.A." (Avondale) states that he* altered a set and~found thatit would go better with the four
valves than when the last audio was
switched into the circuit, but directlythe rheostat was turned up the: five
came on with greater volume than he-
fore. :

A.: This is due probably to the factthat when an amount of current passes
through a resistance (the rheostat) the
voltage drops, When more current
is passed through the same resistance
the voltage drops still more. Ag this
current is passed to all the valves it
probably explains the phenomenon,

"N 8." (Hastings) asks how he might* neutralise a Fada.
A.: Find the neutralising condenser,in most models of this receiver they
are like the regulator ‘of a clock. Find
out. which one controls the valve nenr-
est the detector. Stop filament cur-
rent reaching this valve by isolating
one of the prongs... This might he.
done by wrapping thin silk round it.
Adjust the condenser until the signals
ire at minimum strength, then remove

the silk and repeat the process withthe other valve.

"LLOPEFUL" (Manuka) has a three-valve battery set and with a longaerial cannot receive the local private
station. He asks if a series condenser
in the aerial of .00025 would bring in
these stations.
A.: Probably, for it seems as though
the long aerial is raising ‘the minimum
wavelength the set can tune to. A series
condenser has the same effect as reduc-
ing the length of the aerial.
2, Can I add another valve to the
set. If so, what would be needed other
than the valve?
A.: If the set is one radio detector
and one audio, another valve can be
added to the audiv quite well. If, how-
ever, it is detector and two audio, there
is not much hope. To add another
audio stage you will require in addition
to a vaive, a full knowledge of what
you are doing, and an extra trans-
former.

"wy M.L." (Kilbitnie) has built the’
tetrode crystal set and amplifier,

but has not had success with it. The
reaction coil does not work.
A.: The condenser between the pri-
mary and the secondary of the trans-
former should be connected on the
aerial side of the erystal. If this is
not fully effective,: insert }4-megohm
grid leak in series with the grid‘of the
detector. It may be necessary to try
a low frequency choke in series with
the plate of the valve and the loud-
speaker. The bottom of the tapped
coil is earthed.

"H. G.T." (Wellington) drops a notead stating that his first query was
overlooked. He adds, "I was under
the impression that enquiries ,of this
sort were encouraged in your paper."
‘He then details three questions concern-
ing an aerial.A.: In the first place we must justify
ourselves for delaying teply. We
specficially ask that all technical com-
munication be addressed to the "Tech-
nical Wditor." Both letters were ad-
dressed "The Editor," and the first lost
its way because of this.
1. Although. the aerial is 40ft. above
the ground or grounded objects does
not the lead-in lower its capacity to
earth?
A.: Only*rarely. The ideal aerial is
about 50ft, vertical. It is the horizon-
tal part that gives the trouble, If this
is low, the capacity~-is unduly lowered.
2. If one pole is erected 50ft. and an
aerial runs from it to a ‘pole 20ft.,
would not the extra efficiency of the
portion above the average height com-
pensate for that below?A.: To a certain extent. It will be
better than an aerial 20ft. high, butit will not be as good as 408t. ‘both
ends,

3; At the worst, would not the effect
be equal to an aerial say 30ft. long
varying in height from 50ft. to 37ft?A.: This aerial would not be as good
as the other.

"‘D ©." (North Auckland) asks if-it"is possible to make eliminators
from D.C. mains.

;A.: ¥es, they are quite successful.
One will be described in the ‘Radio
Record" shortly. .
"Eh W.2" (Auckland) is assembling* "Round-the-World" Two, and ignot clear about the coils. He asks the
number of turns on each coil and on
the tickler. .A.: The first set of numbers refersto the secondary coils, which are tap-
ped to eliminate the primary, the sec-,ond set of numbers refers to thetickler coils, which are built up in
exactly the same manner as the sec-
ondaries,

"LL C.B." (Nelson).-The set of valves* is quite O.K.

"G J.I." (Oamaru) finds that his set*
operates on the 40-90 metre

band, but will oscillate in one place
only on the 16-45 metre band. :

A.: Increase the number of turns on
the tickler for this particular band
and try a series condenser of smallvalue (midget) in serieswith the aer-ial to remove any dead spots.
‘\7 B.H." (Houipapa) thinks that
his set is overloading as it doesnot give good tone, Distortion is verybad at night, though fairly good in thedaytime.
A.: Your situation may be bad, butit seems that a great deal of trouble is
being occasioned through the use of a
power valve in what appears to be the
second last socket. Where PM6 shouldnot be used in other than the last
stage, PM5 should be used in all other
sockets, but PM6D used as detector.
See that your grid bias voltages are
correct, and that the grid cireuit ofeither of the valve is not open.

"(CCOURTER" (Wellington) asks if it ignecessary to instal a lightning ar-rester in an all-electric set.
A. Yes; there is not one in the cir-cuit.
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